NAME: 20 February 2014
EE301 Signals and Systems Exam 1

Cover Sheet

Test Duration: 75 minutes.
Coverage: Chaps. 1,2

Open Book but Closed Notes.

One 8.5 in. x 11 in. crib sheet
Calculators NOT allowed.

This test contains two problems.
All work should be done on the sheets provided.
You must show work or explain answer for each problem to receive full credit.
Plot your answers on the graphs provided.
WRITE YOUR NAME ON EVERY SHEET.

Prob. No. Topic(s) Points
1. Continuous Time Signals and System Properties 50
2. Discrete Time Signals and System Properties 50
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Prob. 1. [50 pts|] Consider the LTI system characterized by the I/O relationship:

v = [ atr)dr 4

5 (a) Determine and plot the impulse response of this system, denoted h(t), in the spaced
provided on the sheets attached.
(b) Determine and plot the output 3 (¢) in the space provided when the input to the system
10 is the rectangular pulse below:
z1(t) = —2{u(t — 2) — u(t — 6)}
(c) Determine and plot the output yo(¢) in the space provided when the input to the overall
6 system is the ramp-down triangular pulse.
22(9) = (¢~ DHu(t) — u(t ~2))
(d) Determine and plot the output y3(¢) in the space provided when the input to the system
6 is the ramp-up triangular pulse:
z3(t) = t{u(t) —u(t—2)}
(e) GOAL: determine the output y(¢) when the input to the system is 2(¢) plotted below.
(i) Express x(t) in terms of possibly amplitude-scaled and time-shifted versions of
5 x;(t), © = 1,2,3, defined in parts (b), (c), and (d). You can use any of the
z;(t) functions more than once in your expression or not at all, and
your expression can sum more than just three terms. For example, (this
is NOT correct):
:L‘(t) = \/§ ml(t—ﬂ)——ﬁ wz(t—ﬁ)-l-?) ZL‘3(t—7)—:E3(t—9)+:122(t—27r)—$1(t—\/ 11)
3 (ii) Similarly express y(t) in terms of y;(¢), ¢ = 1,2, 3, answers to parts (b), (c), (d).
(iii) Plot y(t) in the space provided on the sheets attached.
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Problem 2. [50 points| For parts (a) and (b), show your work and do your plots in the
space provided on the sheets attached. Put the answers for the remaining parts on this page.

(a) For parts (a) and (b), consider causal LTI System 1 characterized by the following
difference equation below. Determine and plot (stem plot) the impulse response hy[n].

System 1:  y[n] = —z[n] + z[n — 1] + z[n — 2] + z[n — 3]

15

10

(b) Compute the convolution y[n] = z[n] * hn] with z[n] below, do a stem plot of y[n].
z[n] = {0[n] + d[n — 1] +d[n — 2] — o[n — 3|}
(c) For the REST of this problem, consider System 2 characterized by the equation below:
System 2: y[n] = ™ 4 sin(x[n]) + log,(z[n])

[(b)-(i)] Is System 2 linear? State Yes or No, and explain your answer.

No. Can vicw as 2 sysFems h parallely nene o whivh are Linea,
<A C’)(“C’nj‘fl-’yz(ﬂhlb“il: 3\/h(’\r~(\‘r\3>+ g\h(’ch-h])
Answer(i):

(%, Crde 720 _g WED - %€l (g7, T, CR3+% 2. HD)
e ?é'e "‘"Q ":F ce(o%gg/xgrm')_k\ogﬁ(’xLCV\))

[(b)-(ii)] Is System 2 Time Invariant? State Yes or No, and explain your answer.

~ ALY Fheee suboyasrams oave TT |, .
YE$‘ ' Pl %CV\‘V\O N (K[h-h-‘\{‘\quL?{Ch-na)
Answer(ii) 8, Cin- V‘;) S 4 SIn e ) C .
Which 1o Same as oubput Yeu c=Feun W e \'vauJ‘ ~ Lin- Y\;

[(b)-(iii)] Let h[n] denote the output of System 2 when the input is §[n]. For any other
input, z[n], is the output y[n| equal to the convolu-
tion of z[n] with the impulse response h[n]? State Yes or No, and briefly explain your answer.

NG, System s 't‘\“_(—;"\" (v - TS net t{hegr'— Thas ( The

Answer(iii)Conuep"' of convel¥ing The \\V\}W\-‘. with The ‘mpulgc

VQQP\W\se gl.(« e< a\a;\' O\PP\‘@'

[(b)-(iv)] Does System 2 have memory, or is it Memoryless? State your answer below and
briefly explain.

MEMoRY LEGS, ((}\Vy-ev‘lT oud y)q‘\' X Fime I N én\y
Answer(iv) é‘%o@e\/\tks o n ;)'(r\q Cuvvent \v\))m# Ak Slae .

[(b)-(v)] Is System 2 stable? State Yes or No, and briefly explain your answer.

NG, Two of The subsqsrems ave stabhy bt :,‘?m SysFeim
E.(XC-VIS—} ;> V’\c'k S%\C’\hn\e . ‘«O(".@, lOC(.«\v‘\&Q& \‘f'\bv\'& _‘_M_%_

A- | -,
nswer(v) | o Se

CVecces %“\ii/@&fk Zeve (a‘“@\wuée>> \"geko’) S
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NAME: 13 Feb

-6,
-1 0 1 2 3 4 5 6 7 8 9 10

Plot your answer for h(t) for Problem 1 (a) here.
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Plot your answer for y;(¢) for Problem 1 (b) here.
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1(c): For each value of ¢, write the value of y,(¢) in the table below.

0]
t=0| 0O
t=1
t=2
=3 6

t=)% = (N 4 2 ()= 1,8

2

'("27“’? 2 (DI
-(Bvq 4 - =X

Mark the correct box with an X for each range for y,(¢).

Range for ¢ | Linear Linear Quadratic Quadratic
pos. slope | neg. slope | Concave Up | Concave Down
0<t<l1 <
1<t<?2 x
2<t<3 x
Plot y,(t) below.
] Y N A S T — S S SR SO S
OEE ..................... ............................
obo UUTEUU R SRR
15 | ................... ..........................
1] ........................ .................................
0.5_ ......................... .................................
0 ~
—0.5F ] L .............................
ST ISV USRNSSR NP - e
/ 1.5
B T OF PP PFETS FRRPRPES ........ O S SO P
SO B SR ..............................
b E ......... Emmww ,,,,,,,,,,,,,,,
-1 0 1 2 3 4 5 6 7 8 9 10



X 5, (4> g Vamp(n%,up “«}v{a\ng\e '

1(d): For each value of ¢, write the value of y3(¢) in the table below.

t | ys(t)
_ _ t=0]| o
[)- | faz v =1lo.<

t=21]).¢%
t=3| O

Mark the correct box with an X for each range for ys(¢).

Range for ¢t | Linear Linear Quadratic Quadratic

pos. slope | neg. slope | Concave Up | Concave Down
O0<t<l1 Y
1<t<? b )
2<t<3 XN

Plot y3(t) below.
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1 (e). Express z(¢) in terms of x;(¢), i = 1,2, 3.

(t=6)

1 (e). Express y(t) in terms of y;(¢), 1 =1,2,3 )

, (= 9. (-2) *73“‘ 4) - 4. (5

You can use the plots below if they’re helpful for answering 1(e).
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Part (e). For each range of ¢, put an X in the correct box in the table below.

Range for ¢ | Linear Linear Quadratic Quadratic
pos. slope | neg. slope | Concave Up | Concave Down
0<t<l Y
1<t<?2 X
2<t<3 X
3<t <4 X
4<t<b *
5<t<6 b
6<t<T K
T<t<8
Qeck<a
For each value of ¢, write the value of y(¢) in the table below.
y()
—ol o
t=110.,%
t=21.5
t=3|=).%
t=4 |-0.5
t=50.9
i=6]1.9
t=711L9
t=28 |-0.5
£t=4 0
Plot y(t) for Probl, Part (e) below.
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Plot your answer h[n| to Problem 2, part (a) on this page.
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Show your work and plot your answer y[n| to Prob 2 (b) on this page.
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